Chapter 9

Lecture Notes

Chapter theme: This chapter expands the study of overhead variances that was started in Chapter 8. It also explains how flexible budgets can be used to control variable and fixed overhead costs.  
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I. Flexible budgets 
Learning Objective 1: Prepare a flexible budget and explain the advantages of the flexible budget approach over the static budget approach. 

A. Key definitions:
i. A static budget is prepared at the beginning of the budgeting period and is valid for only the planned level of activity. It is suitable for planning, but it is inadequate for evaluating how well costs are controlled because: 

1. The actual level of activity is unlikely to equal the planned level of activity, thus resulting in “apples-to-oranges” cost comparisons. 

ii. A flexible budget provides estimates of what costs should be for any level of activity within a specified range.  When used for performance evaluation purposes, actual costs are compared to what the costs should have been for the actual level of activity during the period. This enables “apples-to-apples” cost comparisons. 


B. Deficiencies of the static budget

Helpful Hint: Before beginning this discussion, ask students to put themselves in the shoes of a production manager for a toy company that had a runaway hit for the Christmas season. By adding an extra shift and working very hard, the factory was able to produce enough toys to satisfy unexpected customer demand. Then, at the end of the year, the manager was confronted with an unfavorable variance report because more money was spent in the factory than had been budgeted at the beginning of the year. Ask students how they would respond.

i. CheeseCo – an example 

1. Assume that CheeseCo prepared the static budget as shown. Notice:

a. The budget is based on an activity level of 10,000 machine hours.

2. Assume that the actual results for the period were as shown. Notice: 

a. Only 8,000 machine hours were actually worked, thus resulting in  “apples-to-oranges” comparisons with the static budget.

3. The variances between the static budget and actual results would be as shown. Notice:

a. The machine hour variance is 2,000 unfavorable because CheeseCo was unable to achieve the budgeted level of activity.

b. All of the variable overhead cost variances are favorable because actual costs were less than budgeted costs.

4. These favorable variances beg the question – Has CheeseCo done a good job of controlling costs?
a. The answer is unclear because the actual activity level (8,000 machine hours) does not equal the budgeted activity level (10,000 machine hours). 

5. This raises an additional question, namely – How much of the favorable cost variance is due to lower activity, and how much is due to good cost control? To answer this question, we must “flex” the budget.  

C. How a flexible budget works

Learning Objective 2: Prepare a performance report for both variable and fixed overhead costs using the flexible budget approach. 

i. Key assumptions:

1. Total variable costs change in direct proportion to changes in activity.

2. Total fixed costs remain unchanged within a specified activity range. 


ii. The CheeseCo example – continued
1. The key to preparing a flexible budget is to specify the amount of each variable cost per unit of activity. Notice:

a. Indirect labor is $4.00 per machine hour, indirect material is $3.00 per machine hour, and power is $0.50 per machine hour (We can verify these numbers by dividing the total cost according to the static budget by the total amount of the activity per the static budget).

b. While variable costs are expressed per unit of activity, fixed costs are not. They are expressed as a total amount.

2. The flexible budget for an activity level of  8,000 machine hours would be prepared as follows:

a. Multiply the cost per hour for each type of variable cost by the activity level of 8,000 hours.

· In the case of indirect labor, multiply $4.00 per hour by 8,000 hours to yield a budgeted amount of $32,000.  

b. Add the fixed costs, which remain unchanged, to yield a total overhead of $74,000. 

3. The flexible budget at 10,000 hours of activity is $89,000. This equals the amount from the static budget that was presented earlier in this example.
a. Notice, the total variable costs did change (compared to the flexible budget at 8,000 hours), while the total fixed costs did not change. 


Quick Check – preparing a flexible budget
4. The flexible budget at 12,000 hours is as shown. The answer to the Quick Check of $104,000 is shown in the bottom right-hand corner.

D. Using flexible budgets for performance evaluation

i.     The CheeseCo example – continued


1.  Recall from earlier in our example that CheeseCo’s actual activity level was 8,000 machine hours and its actual costs were as shown.

2.  To enable an “apples-to-apples” comparison, a flexible budget based on an activity level of 8,000 machine hours should be used to calculate variances that will be used to evaluate performance.


Quick Check – variance calculations 

3. As shown in the solution to the Quick Check question, the indirect labor variance is $2,000 U.

Quick Check – variance calculations

4.  As shown in the Quick Check question, the indirect material and power variances are $1,500 U and $200 F. In addition, the fixed cost variances for Depreciation and Insurance are $0 and $50U, respectively.
5. The flexible budget that we just prepared enables us to answer the previously posed question – “How much of the total variance is due to lower activity and how much is due to cost control?”
a. Recall from our “apples-to-oranges” comparison that was done earlier, that CheeseCo’s static budget variance was $11,650 F.

b. This difference of $11,650 can be depicted pictorially as shown.

c. If we insert the flexible budget at 8,000 machine hours in the middle of this diagram, it enables us to compute two variances that answer the aforementioned question. 

· $15,000 F is due to a lower activity level.

· $3,350 U is due to poor cost control.

· These two amounts net to $11,650 F. 
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E. The measure of activity – a critical choice


i.       At least three factors are important in selecting an activity base for an overhead flexible budget.


1. The activity base and variable overhead costs should be causally related.

2. The activity base should not be expressed in dollars or other currency.

a. For example, direct labor cost is usually a poor choice for an activity base because changes in wage rates do not result in proportionate changes in overhead.

3. The activity base should be simple and easily understood.

Helpful Hint: Compare a carpentry shop with an almost fully automated process such as beverage production,
where machine-hours would be a more appropriate activity base.

“In Business Insights”
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Learning Objective 3: Use a flexible budget to prepare a variable overhead performance report containing only a spending variance. 

II. Variable overhead variances – a closer look

A. Actual versus standard hours

i. When the flexible budget is based on hours of activity, the quantity of hours chosen can be based on actual hours or the standard hours allowed for the actual output.

1. If the actual hours are used, only a spending variance can be computed.

2. If both the actual and standard hours are used, both a spending and an efficiency variance can be computed.

B. ColaCo – an example 

i. Assume the following:

1. ColaCo’s actual production for the period required 3,200 standard machine hours.

2. Actual variable costs incurred during the period were $6,740. 

3. 3,300 machine-hours were actually worked during the period.  

4. The standard variable overhead cost per machine hour is $2.00.

ii. Spending variance alone – using actual hours

1. The general model for calculating the variable overhead spending variance is as shown. Notice, actual hours are used instead of standard hours allowed.

2. In the case of ColaCo, the variable overhead spending variance is $140 U.

3. This variance is useful only to the extent that the cost driver for variable overhead really is the actual machine hours worked.

4. This variance contains price and quantity components.

a. The unfavorable variance may be due to the variable overhead items costing more to purchase than the standards allow.

b. The unfavorable variance may be due to using more of the variable overhead items than the standards allow. 

iii.  Both spending and efficiency variances –    using actual and standard hours

Learning Objective 4: Use a flexible budget to prepare a variable overhead performance report containing both a spending and an efficiency variance.  

1. The general model for calculating the variable overhead efficiency variance is now shown in addition to the spending variance. Notice, standard hours allowed is used to compute the efficiency variance.

2. If both actual hours and the standard hours allowed are used (in essence computing two sets of budget allowances), it results in a spending variance of $140 U, an efficiency variance of $200 U, and a total variance of $340 U.

a.  Notice, the spending variance has not changed from the prior scenario. Rather, we have just added an efficiency variance.

3. The efficiency variance is useful only to the extent that the cost driver for variable overhead really is the actual machine hours worked.

4. The efficiency variance estimates the indirect effect on variable overhead costs of inefficiency in the use of the activity base.

c. Therefore, whoever controls the activity base is responsible for this variance.


Quick Check – variable overhead variances

C. Activity-based costing and the flexible budget

i. It is unlikely that all variable overhead costs within a company are driven by a single factor such as the number of units produced, labor-hours, or machine-hours.


1. Activity-based costing offers a way to recognize the presence of more than one activity base within a company. It enables a company to evaluate overhead spending for each activity cost pool that has its own respective activity measure.

II. Overhead rates and fixed overhead analysis

Learning Objective 5: Compute the predetermined overhead rate and apply overhead to products in a standard cost system.
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A. Overhead application in a standard cost system

i. Computing overhead rates

1. Overhead costs are assigned to products using a predetermined overhead rate. The estimated total units in the base of the rate is called the denominator activity.

2. The predetermined overhead rate can be broken down into variable and fixed components.

a. As we have seen, the variable component is useful in preparing variable overhead variances.

b. As will be shown shortly, the fixed component is useful in preparing fixed overhead variances.

ii. Normal versus standard cost systems

1. In a normal cost system (as described in Chapter 2), overhead is applied to work in process on the basis of the actual number of hours worked.

2. In a standard cost system, overhead is applied to work in process based on the standard hours allowed for the output of the period.


iii. The general model for computing fixed overhead variances

1. The budget variance is the actual fixed overhead cost minus the budgeted fixed overhead cost.

Helpful Hint: Some students may question why a fixed overhead cost ever has a budget variance. Stress that “fixed” means that the cost does not depend on the level of activity; “fixed” does not mean that the cost will always be the same. Even depreciation costs can differ from the budget due to premature retirements and other unanticipated events.

2. The volume variance is budgeted fixed overhead minus the fixed overhead applied to production. 

a. In equation form, it can be computed by multiplying the fixed portion of the predetermined overhead rate by the difference between the denominator hours and the standard hours allowed. 
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Helpful Hint: Students, particularly those who concentrate on mechanics, often have difficulty understanding the volume variance. The proper interpretation of the volume variance is important because in practice, volume variances are often large and may swamp other, more meaningful variances. 

B. The ColaCo example – continued

i. Assume the following with respect to ColaCo’s flexible budget, its predetermined overhead rate, and its actual operations for the period:


1. ColaCo prepared a flexible budget for two activity levels – 3,000 and 4,000 machine hours. Its total variable and fixed overhead at these two activity levels is as shown. 



2. Its variable overhead rate is constant at $2.00 per machine hour. 
a. Notice, this rate agrees with the standard variable overhead cost per machine hour that was previously used in the variable overhead portion of this example.

3. Its fixed overhead rate is $3.00 per machine hour at an activity level of 3,000 machine hours, and it is $2.25 at an activity level of 4,000 machine hours.

a. Notice, the fixed overhead rate decreases as the activity level increases.

b. The total predetermined overhead rate at either activity level would be the sum of the variable and fixed overhead rates. 

4. ColaCo decided to base its predetermined overhead rate on 3,000 machine hours.

5. It required 3,200 standard machine hours to meet its actual production requirements.

6. It incurred actual fixed overhead costs of $8,450.

Learning Objective 6: Compute and interpret the fixed overhead budget and volume variances.


ii. ColaCo’s fixed overhead variances would be computed as follows:

1. The budget variance of $550 F is computed by comparing the actual fixed overhead incurred ($8,450) to the budgeted fixed overhead ($9,000).

a. This variance represents the difference between how much should have been spent and how much was actually spent. A favorable (unfavorable) variance results when actual spending is less (more) than the budget.
2. The volume variance of $600 F is computed by comparing the budgeted fixed overhead ($9,000) to the fixed overhead applied ($9,600). 

a. The fixed overhead applied is computed by multiplying the standard hours allowed for the actual output (3,200 hours) by the fixed portion of the predetermined overhead rate ($3.00). 

b. A favorable (unfavorable) variance results when the denominator activity is less (greater) than the standard hours allowed for the output of the period.

c. This variance does not measure over- or under-spending. It is a measure of utilization of facilities. 

d. In essence, this variance is the error that occurs as a result of treating fixed overhead as though it were a variable cost.


Quick Check – fixed overhead variance calculations
iii. ColaCo’s fixed overhead variances – a graphic approach
1. The vertical axis is used to graph fixed overhead cost.

a. The first cost that ColaCo would plot on this axis is $9,000 of budgeted fixed overhead.

2. The horizontal axis is used to graph the volume of activity.

a. The first activity level that ColaCo would plot is its denominator activity level of 3,000 machine hours.

3. The linear manner in which fixed overhead is applied to products is depicted by drawing a straight line from the origin to the intersection of the budgeted fixed overhead ($9,000) and the denominator activity (3,000 hours).

a. The slope of this line indicates that fixed overhead is applied at a rate of $3 per machine hour.
4. Next, plot the actual amount of fixed overhead costs on the vertical axis.

a. The difference between the budgeted amount of fixed overhead and the actual amount is the budget variance.

5. Finally, identify the standard hours allowed for the actual level of output (3,200 hours). Draw a vertical line from this activity level until it intersects the sloped line that depicts the fixed overhead applied to products. From this point, draw a horizontal line that intersects the vertical axis. This dollar amount ($9,600) represents the fixed overhead applied.

a. The difference between the budgeted fixed overhead and the fixed overhead applied is the volume variance.
C.   Overhead variances and under- or overapplied overhead cost


i.     In a standard cost system, the sum of the overhead variances equals the under- or overapplied overhead cost for a period.


ii.   Unfavorable variances are equivalent to underapplied overhead.

iii.  Favorable variances are equivalent to overapplied overhead.
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STATIC BUDGETS


The budgets in Chapter 7 were “static.” A static budget is created at the beginning of the budgeting period and is valid only for the budgeted level of activity.

EXAMPLE: Larch Company, which makes a single product, bases its budgets for manufacturing overhead on the following data:

	Variable overhead cost category
	Standard cost per unit

	Maintenance

	$0.60

	Indirect materials

	1.40

	Utilities

	 1.00

	Total variable overhead cost

	$3.00

	
	

	Fixed overhead cost category
	Budgeted annual cost

	Depreciation

	$ 40,000

	Supervision

	50,000

	Insurance

	   10,000

	Total fixed overhead cost

	$100,000


STATIC BUDGETS (cont’d)


Larch Company originally planned to produce and sell 10,000 units during the year, but actual activity was only 8,000 units. A report based on the static (i.e., original) budget from the beginning of the year follows:

	Larch Company
Comparison of Actual Overhead Costs
to Budgeted Overhead Costs



	
	
	Original
	
	

	
	Actual
	Budget
	Variance
	

	Units produced and sold

	     8,000
	    10,000
	 2,000
	U

	
	
	
	
	

	Variable overhead costs:
	
	
	
	

	Maintenance

	$   4,500
	$    6,000
	$1,500
	F

	Indirect materials

	12,000
	14,000
	2,000
	F

	Utilities

	     9,500
	   10,000
	    500
	F

	Total variable overhead

	   26,000
	   30,000
	 4,000
	F

	
	
	
	
	

	Fixed overhead costs:
	
	
	
	

	Depreciation

	40,000
	40,000
	0
	

	Supervision

	49,000
	50,000
	1,000
	F

	Insurance

	   10,000
	   10,000
	       0
	

	Total fixed overhead

	   99,000
	 100,000
	 1,000
	F

	
	
	
	
	

	Total overhead cost

	$125,000
	$130,000
	$5,000
	F



Does the above report, which is based on the original static budget, indicate whether overhead spending was under control?

FLEXIBLE BUDGETS

•
A flexible budget is geared toward all levels of activity within a range, rather than toward only one level of activity. 

•
A flexible budget is dynamic rather than static; it can be tailored for any level of activity within the relevant range.

EXAMPLE: Refer to the data for Larch Company. A flexible budget for manufacturing overhead is provided below for three different levels of activity ranging from 5,000 to 15,000 units.

	Larch Company

Flexible Budget for Overhead



	
	Cost
	
	
	

	
	Formula
	Units

	
	Per Unit
	5,000
	10,000
	15,000

	
	
	
	
	

	Variable overhead costs:
	
	
	
	

	Maintenance

	$0.60
	$   3,000
	$   6,000
	$   9,000

	Indirect materials

	1.40
	7,000
	14,000
	21,000

	Utilities

	 1.00
	     5,000
	   10,000
	   15,000

	Total variable overhead

	$3.00
	   15,000
	   30,000
	   45,000

	
	
	
	
	

	Fixed overhead costs:
	
	
	
	

	Depreciation

	
	40,000
	40,000
	40,000

	Supervision

	
	50,000
	50,000
	50,000

	Insurance

	
	   10,000
	   10,000
	   10,000

	Total fixed overhead

	
	 100,000
	 100,000
	 100,000

	
	
	
	
	

	Total overhead cost

	
	$115,000
	$130,000
	$145,000


OVERHEAD PERFORMANCE REPORT


In a performance report focused on cost control, actual costs should be compared to the flexible budget for the actual level of activity—not the budget for the planned level of activity.

EXAMPLE: Since Larch Company produced and sold only 8,000 units instead of the 10,000 units that had been planned, we would expect spending on variable overhead items to be less than had been planned.

	Larch Company

Overhead Performance Report



	
	
	Actual
	Budget
	
	

	
	
	Costs
	Based
	
	

	
	Cost
	Incurred
	on
	Spending
	

	
	Formula
	8,000
	8,000
	& Budget
	

	
	Per Unit
	Units
	Units
	Variances
	

	
	
	
	
	
	

	Variable overhead costs:
	
	
	
	
	

	Maintenance

	$0.60
	$    4,500
	$    4,800
	$  300
	F

	Indirect materials

	1.40
	12,000
	11,200
	800
	U

	Utilities

	 1.00
	     9,500
	     8,000
	 1,500
	U

	Total variable overhead

	$3.00
	   26,000
	   24,000
	 2,000
	U

	
	
	
	
	
	

	Fixed overhead costs:
	
	
	
	
	

	Depreciation

	
	40,000
	40,000
	0
	

	Supervision

	
	49,000
	50,000
	1,000
	F

	Insurance

	
	   10,000
	   10,000
	       0
	

	Total fixed overhead

	
	   99,000
	 100,000
	 1,000
	F

	
	
	
	
	
	

	Total overhead cost

	
	$125,000
	$124,000
	$1,000
	U


THE MEASURE OF ACTIVITY

•
Most companies use a measure of activity such as labor-hours or machine-hours as the activity base for manufacturing overhead. This is particularly true in multi-product firms where hours often serve as a common denominator for diverse products.

•
Should actual hours or standard hours allowed for the actual output be used in constructing budget allowances for the performance report? There are two approaches:

1.
The budget allowance is based solely on the actual hours. Then only a spending variance for variable overhead is computed. (See Exhibit 9-6 in the text for an example.)

2.
Budget allowances are based on both the actual hours and the standard hours allowed for the actual output. Then both spending and efficiency variances are computed for variable overhead. (See Exhibit 9-7 in the text for an example.)

Variable Overhead Performance Report:
Budget Allowances Based on Actual Hours

(Exhibit 9-6)
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*42,000 machine-hours x $0.80 per machine-hour = $33,600. Other budget allowances are computed in the same way.





Variable Overhead Performance Report: 
Budget Allowances Based on Actual Hours 
and Standard Hours Allowed

(Exhibit 9-7)
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OVERHEAD VARIANCE ANALYSIS

The flexible budget for manufacturing overhead provides information to:

•
Compute predetermined overhead rates. 

•
Complete the standard cost card.

•
Apply overhead cost to products.

•
Prepare overhead variance reports.

EXAMPLE: Swift Company manufactures a single product. Standard cost data for the product follow:

	
	(1)
	(2)
	

	
	Standard
	Standard
	Standard

	
	Quantity
	Price
	Cost

	
	or Hours
	or Rate
	(1) × (2)

	Direct materials

	3.5 feet
	$12 per foot
	$42

	Direct labor

	2.0 hours
	$16 per hour
	$32


Overhead is assigned to the product on the basis of standard direct labor-hours. Swift Company’s flexible budget for overhead (in condensed form) is given below:

	
	Cost
	Direct Labor-Hours

	
	Per DLH
	10,000
	15,000
	20,000

	Variable costs

	$5
	$  50,000
	$  75,000
	$100,000

	Fixed costs

	
	 300,000
	 300,000
	 300,000

	Total cost

	
	$350,000
	$375,000
	$400,000


PREDETERMINED OVERHEAD RATE

•
In a standard cost system, the predetermined overhead rate is computed as follows:
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EXAMPLE: The predetermined overhead rate at Swift Company is computed below for two levels of activity:

Denominator activity: 10,000 DLHs
	Variable element: ($50,000 ÷ 10,000 DLHs)

	$ 5 per DLH

	Fixed element: ($300,000 ÷ 10,000 DLHs)

	 30 per DLH

	Predetermined overhead rate

	$35 per DLH


Denominator activity: 15,000 DLHs
	Variable element: ($75,000 ÷ 15,000 DLHs)

	$ 5 per DLH

	Fixed element: ($300,000 ÷ 15,000 DLHs)

	 20 per DLH

	Predetermined overhead rate

	$25 per DLH


Note that the difference between the predetermined overhead rates at the two levels of activity is entirely due to fixed overhead being spread over different amounts of activity.

APPLYING OVERHEAD IN A STANDARD COST SYSTEM

Assume that the denominator level of activity at Swift Company is 15,000 DLHs. The following data apply to the current year’s operations.

	Denominator level of activity

	15,000
	DLHs

	Number of units completed

	8,000
	units

	Actual direct labor hours

	18,000
	DLHs

	Actual manufacturing overhead cost:
	
	

	Variable

	$ 81,000
	

	Fixed

	 305,000
	

	Total manufacturing overhead cost

	$386,000
	



In a standard cost system, overhead is applied on the basis of the standard hours allowed for the actual output rather than on the basis of the actual hours. This results in a simpler system in which the overhead applied to units is always the same. In this example, the overhead cost is always $50 per unit (2.0 DLHs per unit × $25 per DLH).


Using the above data, the company’s manufacturing overhead account would appear as follows:

	Manufacturing Overhead

	Actual overhead cost
	386,000
	Applied overhead cost
	400,000*

	
	
	Overapplied overhead
	14,000


* 8,000 units × 2.0 DLHs per unit = 16,000 DLHs;
  16,000 DLHs × $25 per DLH = $400,000.

VARIABLE OVERHEAD VARIANCES


Swift Company’s $14,000 overapplied overhead can be explained by four variances: the variable overhead spending and efficiency variances and the fixed overhead budget and volume variances. The variable overhead variances are computed below:

	Actual Hours of Input, at the Actual Rate
	
	Actual Hours of Input, at the Standard Rate
	
	Standard Hours Allowed for Actual Output, at the Standard Rate

	(AH × AR)
	
	(AH × SR)
	
	(SH × SR)

	
	
	18,000 DLHs ×
$5 per DLH 
	
	16,000 DLHs ×
$5 per DLH 

	$81,000
	
	= $90,000
	
	= $80,000 

	(
	
	
	(
	
	
	(
	

	Spending Variance, 
$9,000 F
	Efficiency Variance, 
$10,000 U



Spending variance: The variable overhead spending variance contains differences between actual and standard prices and between actual and standard quantities.


Efficiency variance: The variable overhead efficiency variance is not a measure of how efficiently overhead resources were used. It is a measure of the efficiency with which the base underlying the flexible budget was used.

FIXED OVERHEAD VARIANCES

Data concerning Swift Company are presented below: 

	Denominator activity (direct labor-hours)

	15,000
	DLHs

	Actual direct labor-hours worked

	18,000
	DLHs

	Standard direct labor-hours allowed for output

	16,000
	DLHs

	Number of units produced

	8,000
	units

	Budgeted fixed overhead cost

	$300,000
	

	Actual fixed overhead cost incurred

	$305,000
	

	Fixed element of the predetermined overhead rate

	$20
	



Using these data, an analysis of the company’s fixed overhead variances follows:

	
	
Actual Fixed Overhead Cost
	
	
Budgeted Fixed Overhead Cost
	
	Fixed Overhead Cost Applied to 
Work in Process

	
	
	
	
	
	16,000 DLHs × 
$20 per DLH 

	
	$305,000
	
	$300,000
	
	= $320,000

	
	(
	
	
	(
	
	
	(
	

	Budget Variance, 
$5,000 U
	Volume Variance, 
$20,000 F


FIXED OVERHEAD VARIANCES (cont’d)

The fixed overhead variances can also be computed as follows:
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•
The volume variance is not a measure of spending; it is affected only by the level of activity.

•
Standard hours allowed for the actual activity >
Denominator level of activity                             ( Favorable


•
Standard hours allowed for the actual activity <
Denominator level of activity                             ( Unfavorable


GRAPHIC ANALYSIS OF VOLUME VARIANCE
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SUMMARY OF VARIANCES

•
In a standard costing system, under or overapplied overhead equals the sum of:

•
Variable overhead spending variance

•
Variable overhead efficiency variance

•
Fixed overhead budget variance

•
Fixed overhead spending variance

•
Underapplied overhead is equivalent to a net unfavorable variance.

•
Overapplied overhead is equivalent to a net favorable variance.

Thus, Swift Company’s $14,000 overapplied overhead can be explained as follows:

	Variable overhead:
	
	

	Spending variance

	$ 9,000
	F

	Efficiency variance

	10,000
	U

	Fixed overhead:
	
	

	Budget variance

	5,000
	U

	Volume variance

	 20,000
	F

	Overapplied overhead

	$14,000
	F
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